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How separate original pulse and reflected pulse in a integrated waveformn

Simple test : copy original pulse , delay time ~6éns, regulate 0.2 ~ 0.8
pulse height of original pulse height
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Pulse separation test

copy original pulse, delay time ~6ns, regulate

After pulse separation

02708 __ Toriginal — T(reconstructed pquTe)
..2 F Entries 636 *260: Entries 636
r M 3.353 - ean .
3 20; RMS 9631 s F RVS 03043
O 18F Q40F
161 120F
14F "
122_ 100
10F 80F-
8F- 60
i3 a0f
of 20
: :IIIIIIIIIIIIIIIII-III I-I-IIIIIIIIIIIIII
950 -40 -30 -20 -10 0 10 20 30 40 50 910 8 6 4 -2 0 2 6 8 10
Fraction (%) AT (ns)
Height difference fraction of T(summed pulse) — T(reconstructed pulse)
Original pulse and reconstructed pulse N3 U
: il
80
70E-
60F-
s0E-
wof-
30;—
20F This might affect Etof?
10
OE| ] ] ] ] |HJ||I| lew o | ]
-10 8 6 4 2 0 2 6 8 10




Q) How reflected pulse affect timing decision?
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Comparison E,_; with old, new time decision method
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ADC
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